
WebGraphviz is Graphviz in the Browser
Enter your graphviz data into the Text Area:

(Your Graphviz data is private and never harvested)

Sample 1  Sample 2  Sample 3  Sample 4  Sample 5  
digraph G {
  "Welcome" -> "To"
  "To" -> "Web"
  "To" -> "GraphViz!"
}

Generate Graph!

Fixed <= 0.5
gini = 0.4961

samples = 29343
value = [15961, 13382]

Male <= 0.5
gini = 0.1174

samples = 5811
value = [5447, 364]

True Young <= 0.5
gini = 0.4943

samples = 23532
value = [10514, 13018]

False

Mix <= 0.5
gini = 0.1264

samples = 2714
value = [2530, 184]

Young <= 0.5
gini = 0.1095

samples = 3097
value = [2917, 180]

Young <= 0.5
gini = 0.1619
samples = 484

value = [441, 43]

SmallDog <= 0.5
gini = 0.1185

samples = 2230
value = [2089, 141]

SmallDog <= 0.5
gini = 0.1987
samples = 295

value = [262, 33]

SmallDog <= 0.5
gini = 0.1002
samples = 189

value = [179, 10]

gini = 0.1579
samples = 162

value = [148, 14]

gini = 0.2449
samples = 133

value = [114, 19]

gini = 0.0792
samples = 121

value = [116, 5]

gini = 0.1362
samples = 68

value = [63, 5]

Young <= 0.5
gini = 0.1233

samples = 1530
value = [1429, 101]

Young <= 0.5
gini = 0.1078
samples = 700

value = [660, 40]

gini = 0.1228
samples = 898

value = [839, 59]

gini = 0.1241
samples = 632

value = [590, 42]

gini = 0.1131
samples = 482

value = [453, 29]

gini = 0.0958
samples = 218

value = [207, 11]

SmallDog <= 0.5
gini = 0.097

samples = 2055
value = [1950, 105]

Mix <= 0.5
gini = 0.1336

samples = 1042
value = [967, 75]

Mix <= 0.5
gini = 0.0857

samples = 1293
value = [1235, 58]

Mix <= 0.5
gini = 0.1158
samples = 762

value = [715, 47]

gini = 0.1133
samples = 282

value = [265, 17]

gini = 0.0778
samples = 1011

value = [970, 41]

gini = 0.1113
samples = 186

value = [175, 11]

gini = 0.1172
samples = 576

value = [540, 36]

SmallDog <= 0.5
gini = 0.1065
samples = 195

value = [184, 11]

SmallDog <= 0.5
gini = 0.1397
samples = 847

value = [783, 64]

gini = 0.1274
samples = 117

value = [109, 8]

gini = 0.074
samples = 78

value = [75, 3]

gini = 0.1296
samples = 603

value = [561, 42]

gini = 0.1641
samples = 244

value = [222, 22]

SmallDog <= 0.5
gini = 0.4994

samples = 18355
value = [9499, 8856]

Male <= 0.5
gini = 0.3152

samples = 5177
value = [1015, 4162]

Male <= 0.5
gini = 0.4982

samples = 11292
value = [5983, 5309]

Male <= 0.5
gini = 0.5

samples = 7063
value = [3516, 3547]

Mix <= 0.5
gini = 0.4998

samples = 5090
value = [2592, 2498]

Mix <= 0.5
gini = 0.4956

samples = 6202
value = [3391, 2811]

gini = 0.4983
samples = 1037

value = [549, 488]

gini = 0.5
samples = 4053

value = [2043, 2010]

gini = 0.4897
samples = 1455

value = [832, 623]

gini = 0.4969
samples = 4747

value = [2559, 2188]

Mix <= 0.5
gini = 0.4996

samples = 3060
value = [1486, 1574]

Mix <= 0.5
gini = 0.4999

samples = 4003
value = [2030, 1973]

gini = 0.497
samples = 802

value = [370, 432]

gini = 0.4999
samples = 2258

value = [1116, 1142]

gini = 0.4997
samples = 1066

value = [547, 519]

gini = 0.5
samples = 2937

value = [1483, 1454]

Mix <= 0.5
gini = 0.2891

samples = 2664
value = [467, 2197]

Mix <= 0.5
gini = 0.341

samples = 2513
value = [548, 1965]

SmallDog <= 0.5
gini = 0.3151
samples = 597

value = [117, 480]

SmallDog <= 0.5
gini = 0.2813

samples = 2067
value = [350, 1717]

gini = 0.3291
samples = 366

value = [76, 290]

gini = 0.292
samples = 231

value = [41, 190]

gini = 0.2893
samples = 1522

value = [267, 1255]

gini = 0.2582
samples = 545

value = [83, 462]

SmallDog <= 0.5
gini = 0.3552
samples = 654

value = [151, 503]

SmallDog <= 0.5
gini = 0.3359

samples = 1859
value = [397, 1462]

gini = 0.3649
samples = 379

value = [91, 288]

gini = 0.3412
samples = 275

value = [60, 215]

gini = 0.337
samples = 1361

value = [292, 1069]

gini = 0.3328
samples = 498

value = [105, 393]

http://www.graphviz.org/

